
 
 

©
 V

er
la

g 
E.

 D
O

RN
ER

 G
m

bH
  |

 ©
 V

er
la

g 
Ju

ge
nd

 &
 V

ol
k 

G
m

bH
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  

 

 Lösen von Bruchgleichungen       Lösungen 
1. a)  

 
 
 

b) (1)       D = ℝ\{1} (2)      D = ℝ\{−3; 2} 
2. a) b)  

D = ℝ\{2} D = ℝ\{0,5} 
6 = 3x ⇔ 2 = x;      3  2x = 3x  7 ⇔ x = 2;      
L = {2} L = {2} 

3. a) 5 5
x 2 2x 3


 

 b) 2 2
5x 1 3x 5


  

 

D = ℝ\{1,5; 2} D = ℝ\{ 51
5 3; } 

x  2 = 2x  3   ⇔   x = 1;   5x +1 = 3x + 5   ⇔   x = 0,5;   
L = {1} L = {0,5} 
 

4. a) 3 2
x 3 4 x


 

 b) 7 5 2x 1
2x 2 3x 3 6x 6


 

  
 
N1: (x + 3);  N2: (4 x);   N1: 2⋅(x + 1);  N2: 3⋅(x + 1); N3: 6⋅(x+1) = 2⋅3⋅(x + 1) 
HN: (x + 3)(4  x) HN: 2⋅3⋅(x + 1)                      
D = ℝ\{3; 4} D = ℝ\{1} 
3⋅(4  x) = 2⋅(x+3)   ⇔   x = 1,2;   L = {1,2} 7⋅3  5⋅2 = 2x  1   ⇔   x = 6;    L = {6} 

 c) 2
2x 1 5
x x 2x 2




 
 d) 2

2x 5 2
x 1x 1

 


 

 
N1: x⋅(x  1);  N2: 2⋅(x  1);   N1: (x  1);  N2: (x  1)⋅(x + 1); N3: 1;   
HN: 2⋅x⋅(x  1) HN: (x  1)⋅(x + 1) 
D = ℝ\{0; 1} D = ℝ\{1; +1} 
(2x  1)⋅2 = 5⋅x   ⇔   x = 2;   L = {2} 2x⋅(x + 1)  5 = 2⋅(x  1)(x + 1)   ⇔   x = 1,5;   L = {1,5} 
 
 

 

Eine Gleichung, bei der die Variable im Nenner auftritt, heißt Bruchgleichung. 


